. Section — A
I.Answerthefaﬂowing: 14x1=14
1. In AABC is an isosceles triangle with 4¢ = 90° and AC = 5cm, then AB is
a) 2.5cm b) Secm ¢) 10cmd) 5v Zem

respectively. If PQ=10cm, then the length of AR s

e 2
)6, cim 3T L 667 cm d) 15 cm

3.In AABC, AD is a bisector of £ZBA(. If AB=8cm, BD=6cm, DC=3cm. The length
of side AC is

a) 6cm b) 4cm ¢) 3em d) 8cm
4. A tangent is perpendicular to the radius at the

a) Centre b) Point of contact c) Infinity d) Chord
5. How many tangents can be drawn to the circle from an exterior point ?

a) One b) Two ¢) Infinity dj) Zero
6. A cevian that divides the opposite side in to two congruent (equal) lengths is
called ;

2) amedian  b) an altitude ¢) an angle bisector  d) orthocenter
7. If twao circles touch externally, the distance between their centre is equal o
a) sum of their radii b) product of their radii ¢) difference of their radii d) zero
8. The area of triangle formed by the points (-3,5) (5,6) (5,-2) are
a) 20 sq. units  b) 25 sq. units ¢) 32 sq units  d) 35 sq. units
9. The straight line given by the equation x = 11 is
a) parallel to x — axis  b)parallel to y — axis c) passing through the
origid d) passing through the point (0,11)
10. If (5.7), (3,P) and (6,6) are collinear, then the value if P is
a)3 b)6 c)9 d)12
slope of a line which is perpendicular to a line joining the points (0,0) and

9% d) =%/,
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The slope of a line whaose inclination is 30° ? :
‘ a) V3 b) 71'-5 ¢) 0 d) @
14. The point of intersection of 3x —y = 4andx +y = 8 18
8)(5,3) b) (2, 4) ‘6) (3 , 5) d) (4,4)
Section — B

1L. Answer ANY 10 of the following : ( Q. No. 28 is compulsory) 10x2=20

*15. The line P passes through the points (3 ,-2) ( 12, 4 ) and the line q passes
through (6,-2) and (12, 2). Is p parallel to q ? .

+16. Find the slope of a line joining the points (-6 , 1) (-3 , 2).
17. Find the equation of a line whose inclination is 30 and making an intercept -3
On the y — axis.
I8. Find the equation of a line whose ntercepts on x and y axes are 4 , -6 .
19. Find the equation of a straight line passing through (5 , <3) (7 , -4).

*20. Find the area of triangle formed by the points (1 , -1) (-4 , 6) and (-3 , -5).

“21. If the area of the triangle formed by the vertices A(-1, 2), B(K , -2), C(7 , 4)
(taken in order) is 22 sq. units, find the value of K.

» 2.2, The length of a tangent to a circle from a point p, which is 25cm away from the
centre 15 24cm. What 1s radius of circle ?

*23. A man goes 18m due east and then 24m due north. Find the distance of his
current pesition from the starting point ?

. 24, If radii of two concentric circle are 4cm and Scm, then find the length of the
chord of one circle which is a tangent to-the other circle.
25. In AABC, D and E are points on the sides AB and AC respectively such that

DE || BC if -’g% = -j— and AC = 15c, Find AE.

1 26. AD is the bisector of 2ZA. If BD = 4cm DC= 3cm, AB= 6cm find AC.
A

»
D
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¢ the coverse of angle bisector theorem.

: Section - C
1L Answer the following (Any 10) { Compulsory Q.No. 42] -

-+ 29, State and prove the Thales Theorem.

30. Two poles of height ‘a’ meters and b meters are ‘p” meters apart. Prove that the @
height of the point of intersection of the lines joining the top of each pole to the foot
of the opposite pole is given by i—% meters.

-
A i s,

31.In fig ZQPR =90°, PS is bisector. If ST L PR. Prove that
ST[PQ + PR]=[PQ X PR] p

A R PR
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